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| 24,482,715
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01 IXISH 22X 336,000 400,000 64,000
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P EEEREES 478,500 307,650 170,850
EEESTEIN 478,500
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01 XIS HZ &S 300,000 300,000
DateaAstn 300,000
SCE s East D 1,655,400 1,655,400
301 PP A 150,000 150,000
02 Zatz ez 150,000 150,000
mEE =S 150,000
401 Al&HI L 2| 1,505,400 1,505,400
01 Al 1,500,000 1,500,000
S ArS Ds M A & & X 1,500,000
03 Al& S22 0HHI 5,400 0 5,400
IS AS DSt A S T A X S T 5,400
AMSHIIR X 500,000 0 500,000
403 XHXI S S AHR 0| & 500,000 0 500,000
01 HXISHHR 2L X 500,000 0 500,000
OHCANSZIFALSET 2 500,000
ANBAAX 13,654,497 14,175,458 A520,961
| 7,746,000
[ 5,908,497
TALZMAD B e S 11,788,497 10,425,000 1,363,497
p] 7,746,000
[ 4,042,497
403 XHXI S S AHR 0| & 11,788,497 10,425,000 1,363,497
| 7,746,000
= 4,042,497
01 HXISHHR 2L X 11,788,497 10,425,000 1,363,497
XA M A BHEHE AL 11,788,497
| 7,746,000
= 4,042,497
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308 XX EHAI S 01 ® 150,000 216,000 £66,000
01 X SHMBARES 150,000 216,000 66,000
R AF2 A ALK & ALY 150,000
OFSBATAIBZ MM EA 90,000
OArL 2I KM = & LRI K 8 60,000
403 X+ XIS+ X S KH= 0| & 1,716,000 729,000 987,000
01 HXISHHR 2L X 1,716,000 729,000 987,000
A2 M A EHI R 2 666,000
PRy b EYNPE DAL 180,000
CEAFEII2AIE (TWR) X & 195,000
OAEESIABAHSXES 675,000
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zn2REYL 7,426,861 3,359,870 4,066,991
z 470,000
Il 4,890,453
= 2,066,408
CEIAMA2ZINA 527,000 492,300 34,700
Il 316,200
& 210,800
307 R12+0I 527,000 492,300 34,700
Jl 316,200
& 210,800
02 gzt atEx 527,000 492,300 34,700
DESANASS 527,000
Il 316,200
= 210,800
A 0I101E 1,393,311 1,612,500 A 219,189
Il 1,065,253
= 328,058
307 2IZtol 24,236 0 24,236
Il 12,118
& 12,118
02 QItF A2 X 24,236 0 24,236
CJ41 1021012 Xl (DNAZ AtHI) 24,236
Il 12,118
= 12,118
308 XX HHMSOIA 1,369,075 1,612,500 A243,425
Il 1,053,135
= 315,940
01 HXHHBLEEXS 1,369,075 1,612,500 N243,425
41201012/ (7 E= &) 1,369,075
] 1,053,135
= 315,940
S=msEds 436,050 292,150 143,900
308 XX SHHMSOIH 141,750 192,150 A50,400
01 IXHHMBAEES 141,750 192,150 250,400
HDI0E=HFMAE X 141,750
403 XX SHHMSXH=0l & 294,300 100,000 194,300
01 AtXIEHHI X =2 2 X 294,300 100,000 194,300
OEM4SRSTHHEIT 205,000
OAsSHHEdSZE XS 63,000
WENELI L 6,300
SMSHEIAD 120,600 61,800 58,800
202 (44| 25,000 25,000 0
01 2401 4] 25,000 25,000 0
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OF&SA A28 0HI 25,000
307 212+01 A 20,000 20,000 0
04 212t ALE X 20,000 20,000 0
OsaSotA S A ABI X2 20,000
308 AtXI&MSO0I A 75,600 16,800 58,800
01 AXEHEMEEXS 75,600 16,800 58,800
OSAUSEHEMEF LM 9,600
O &S A STAAX S 66,000
sk 463,500 757,600 A294,100
308 XHAIEHMSO0IE 114,900 90,600 24,300
01 HIXHHBLEEXS 114,900 90,600 24,300
ORASEHMNEAS 104,400
U=rzddAY 10,500
403 XX SHMS K= 01 A 348,600 667,000 /318,400
01 X SHHK=2EE 348,600 667,000 A318,400
O s I A& 348,600
SM20F sFMS NS 526,400 0 526,400
= 470,000
S 56,400
403 XX &M S AH=01 & 526,400 0 526,400
& 470,000
S 56,400
01 XX SHHMA2E X 526,400 0 526,400
O==XZ08S3AE 526,400
& 470,000
= 56,400
StRRsaXE 3,960,000 0 3,960,000
D) 3,509,000
= 451,000
308 AtXIHMSOI A 3,960,000 0 3,960,000
Il 3,509,000
S 451,000
01 AXESHHISEEXS 3,960,000 0 3,960,000
OusaaXa 3,960,000
Jl 3,509,000
= 451,000
JrESA A 27,152,975 11,691,019 15,461,956
= 18,572,655
Il 2,300,262
< 6,280,058
HEASHHLARLOI=LA) 284,000 286,272 N2,272
= 142,000
= 142,000
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206 TH 2 284,000 286,272 A2,272
= 142,000
= 142,000
01 T2 bl 284,000 286,272 ~2,272
BELYEETEIEEE 284,000
= 142,000
= 142,000
g CICIEETEY 9,728,603 5,653,506 4,075,007
=2 7,550,355
= 2,178,248
308 XX £HH S 01 & 9,728,603 5,653,506 4,075,007
= 7,550,365
= 2,178,248
01 KHXISHZ A2 ES 9,728,603 5,653,506 4,075,007
mpJEFIEEE= LI 9,728,603
= 7,550,355
= 2,178,248
ACZHEHER Y (OIEY ) 1,046,010 1,063,860 ~17,850
=2 615,300
= 430,710
308 XX £HHI S 01 & 1,046,010 1,063,860 ~17,850
=2 615,300
= 430,710
01 RHXISHH B A2 ES 1,046,010 1,063,860 A17,850
OASS MR HE 2 FY| 1,046,010
= 615,300
= 430,710
p[E RTEETDNETGIEEIED 344,500 0 344,500
=2 265,000
= 79,500
403 XX EHHI S K2 0| & 344,500 0 344,500
=2 265,000
= 79,500
01 XFXISHRIXHZ 2 % 344,500 0 344,500
Ot =2 B HIX & 344,500
= 265,000
= 79,500
IES MY ARSI ERYIRYH) 1,202,550 1,202,550 0
| 721,530
= 481,020
307 212H0| & 1,202,550 1,202,550 0
| 721,530
= 481,020
02 Bl ARE 1,202,550 1,202,550 0
8ol Q2 ol 2| 1,202,550
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p) 721,530
= 481,020
HAALEH BN X (FASE XX SAY) 120,900 128,700 AT,800
ol 93,000
s 27,900
308 XA M SO0IE 120,900 128,700 AT,800
) 93,000
s 27,900
01 MHXEHEHELS 120,900 128,700 A7,800
O~ BN =X 120,900
D) 93,000
= 27,900
IIETHO LAY 1,744,960 1,239,680 505,280
206 M =4 100,000 50,000 50,000
01 =4l 100,000 50,000 50,000
U222 Sl 100,000
308 AXIHMSOIA 1,300,680 922,680 378,000
01 MAEHESELS 1,300,680 922,680 378,000
OPRI%S 2 Al 204,000
OISR ol ot X & 384,000
CotE ool 24| X & 243,000
Us=2+=gA& 271,680
BERNES=ETEN_S- Pk 198,000
403 TXIHMSA201H 344,280 267,000 77,280
01 XM= L2 344,280 267,000 77,280
OASAEX & A 344,280
HRASAL2IOIFEE2EZUH) 1,931,452 0 1,931,452
7 1,485,732
& 445,720
308 XA M SO0IE 1,931,452 0 1,931,452
p) 1,485,732
= 445,720
01 KX SHHIAEES 1,931,452 0 1,931,452
EESEIEE L] 965,380
7 742,600
T 222,780
OasAE2SAE 966,072
l 743,132
= 222,940
ax=2asiE 10,750,000 0 10,750,000
= 10,000,000
= 750,000
308 XA M SO0l E 10,750,000 0 10,750,000




SH: HMFSD]
HE: SMNALPAL(SHHYLM/5 - 5&)
SRR ETTE N (e @
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
= 10,000,000
= 750,000
01 RS HALRES 10,750,000 0 10,750,000
O4HESA2X & 10,750,000
= 10,000,000
= 750,000
LB 10,914,760 2,439,280 8,475,480
= 673,200
| 9, 142,000
= 1,099,560
FEX AL 240,000 248,880 8,880
308 XX £ S 01 & 240,000 248,880 8,880
01 KRS B A2 XS 240,000 248,880 28,880
OS22=BAAL 240,000
9 i XI 2l ALY 352,500 262,500 90,000
308 XX EHHI S 01 & 352,500 262,500 90,000
01 KHXISHZ A2 ES 352,500 262,500 90,000
BEFEEER 352,500
JIEIES A 313,740 251,500 62,240
308 X+XI €M SO0l & 313,740 159,100 154,640
01 XS HALRBES 313,740 159,100 154,640
O EII KRR 250,740
OEZSLELHIEAY 63,000
AN S IS AL S 9,016,000 0 9,016,000
] 9,016,000
403 KX M S K20 ® 9,016,000 0 9,016,000
| 9,016,000
01 IXISH 22X 9,016,000 0 9,016,000
BEYNPEET N 9,016,000
| 9,016,000
ZA20Hs 00X 0|2 5 B3 AL 740,520 1,676,400 £.935,880
= 673,200
= 67,320
403 KX EHH SR 0| & 740,520 1,676,400 £.935,880
= 673,200
= 67,320
01 RXISHH =2 X 740,520 1,676,400 935,880
OXNZ0IE28SA (S0 0ILX 2S5t 740,520
= 673,200
= 67,320
ESUSE2I 252,000 0 252,000
| 126,000
= 126,000
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308 X- Xl EHFI S 01 & 252,000 0 252,000
0| 126,000
= 126,000
01 KXIEHHZ A2 ES 252,000 0 252,000
OESYSSEIAY 252,000
| 126,000
= 126,000
=R YN 5,065,214 10,985,414 15,920,200
=2 3,226,000
| 4,000
= 835,214
MELHRIAIA 4,137,314 9,891,414 A5,754,100
2 226,000
= 911,314
403 X EFH S X2 0| & 4,137,314 9,891,414 ~5,754,100
2 226,000
= 911,314
01 XHXIBHRIXHE 2 X 4,137,314 9,891,414 ~5,754,100
(OS2 =H2 X8 A 4,137,314
=2 226,000
= 911,314
e 4,000 8,000 A4,000
)| 4,000
308 Xt X EHHI S 01 & 4,000 8,000 A4,000
)| 4,000
01 IXIBHBAEES 4,000 8,000 A4,000
LS| HHIAI S 22 ALY 4,000
)| 4,000
ASFEUX AL 923,900 1,086,000 £162,100
308 Xt X R S 01 & 189,900 126,000 63,900
01 HRISHH AL R ES 189,900 126,000 63,900
O#X0IZHS PR ML 126,000
Dzl et B2 MK & 45,000
OS2 HSAE & IIHKIR 18,900
403 XX EFH S X201 & 734,000 960,000 226,000
01 XFXIBHAIXHE 2 X 734,000 960,000 226,000
]2 H| 4 AFAI & K] & 320,000
ODEZ AU A0 MBIIA X2 144,000
Ose=XNgasESANY 270,000
HHSAAL (FAAS D) (JIEHIIE 29,000 29,000 0
ol 2| 29,000 29,000 0
P[] 29,000 29,000 0
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